comm.cpp sallcpp saM.cpp sald.cpp

1  #include <iostreams 8| C\Users\abr alsharg\Desktop\comm.exe - O X
2 u;ing namespace std; 1000 560000

3 int main()

46 Process exited after 20.49 seconds with return value @
> float bsalary,comm; Press any key to continue . . .

6 int sales;

7 cin>>bsalary?>sales;

8 if(sales > S5*bsalary)

9 comm=0.05 * bsalary;
10 else

11 if(sales > 3*bsalary)
12 comm=0.03 * bsalary;
13 else
14 if(sales<=3*bsalary)

15 comm=0.02%bsalary;
16 cout<<bsalary +comm;
17 return 0;
18 | |}
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for

comm.cpp S2l2.cpp sald.cpp salS.cpp
1 #include <iostream>
2 using namespace std;
3 int main()

B | Select C\Users\abr alsharg\Desktop\sal2.exe - O X

4H {

5 float bsalary,comm;

6 int sales,i;

7 for(iz=1;i<=3;i++)

g { Process exited after 27.46 seconds with return value
9 cin>>bsalaﬁy>>sales; Press any key to continue . . .
10 if(sales > 5*bsalary)

11 comm=0.05 * bsalary;

12 else

13 if(sales > 3*bsalary)

14 comm=68.03 * bsalary;

15 else

16 if(sales<=3*bsalary)

17 comm=0.02%bsalary;

18 cout<<bsalary +comm;

19 }

20 return ©;

21 L)
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while

comm.cpp salZ.cpp sald.cpp  salS.cpp

#Hir de <1ios “eam’> -
1 finclude <iostream B | CA\Users\abr alsharg\Desktop\sald.exe — (] Pt

2 using namespace std;
3 int main()

45 {

5 float bsalary,comm;

6 int sales,i=1;

7 while(i<=3)

8 { ]

. Process exited after 26.59 seconds with return value @

e c1n>>bsalary>>sales; Press any key to continue .

10 if(sales > S5*bsalary) S

11 comm=0.05 * bsalary;

12 else

13 if(sales > 3*bsalary)

14 comm=0.03 * bsalary;

15 else

16 if(sales<=3*bsalary)

17 comm=0.02*bsalary;

18 cout<<bsalary +comm;

19 1443

20 }
21 return 0;




#1nclude <1ostream>
using namespace std; B! C\Users\abr alsharg\Desktop\sal>.exe
int main()
{
float bsalary,comm;
int sales,i=1;
do
{

cinydbsalarysysales; Process exited after 30.22 seconds with return value @
' ' Press any key to continue . . .

W00 ~J O W P Ll R

—
=

if(sales » 5*bsalary)
comm=0.085 * bsalary;
else
if(sales > 3*bsalary)
comm=0.03 * bsalary;
else
if(sales¢=3*bsalary)
comm=0.02*bsalary;
et il Il (i e 0
| do-while

}
while(i¢=3);
return 0;
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